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Question1:-Who is the current President of the World Bank?

உலக வ���� த�ேபாைதய தைலவ� யா�?

        A:-Luc Tardif

�� டா��ஃ�

        B:-Macky sall

ேம�� சா�

        C:-David R Malpass

ேட�� R. ம�பா�

        D:-Thomas Bach

தாம� பா�

        Correct Answer:- Option-C

Question2:-Who is known as the ''Prophet of the French Revolution''?

''�ெர�� �ர���� ���கத��'' எ�� அைழ�க�ப�பவ� யா�?

        A:-Adam Smith

ஆட� ���

        B:-Montesquieu

மா�ெட���

        C:-Voltaire

வா�ேட�

        D:-Rousseau

�ேசா

        Correct Answer:- Option-D

Question3:-The bill of Rights was passed in the year

உ�ைமக� மேசாதா �ைறேவ�ற�ப�ட ஆ��

        A:-1689



        B:-1701

        C:-1694

        D:-1695

        Correct Answer:- Option-A

Question4:-Who led the Revolt of 1857 at Bareilly?

பேர��� 1856� நட�த �ள����� தைலைம தா��யவ� யா�?

        A:-Hazrat Mahal

ஹ�ர� மஹா�

        B:-Bakhat Khan

ப�க� கா�

        C:-Kanwar Singh

க�வ� ��

        D:-Nana Sahib

நானா சா��

        Correct Answer:- Option-B

Question5:-Which of the following was known as the second ''Magna Carta'' in
English History?

ஆ��ல வரலா��� ��வ�வனவ��� இர�டாவ� ''ேம�னா கா��டா'' என

அ�ய�ப�ட� எ�?

        A:-Religious Toleration Act

மத ச����த�ைம ச�ட�

        B:-The Petition of Rights

உ�ைமக��கான ம�

        C:-The Act of Settlement

���� ச�ட�

        D:-The Bill of Rights

உ�ைமக� மேசாதா

        Correct Answer:- Option-D

Question6:-Who wrote the book ''The Spirit of Laws''?

''� ���� ஆஃ� லா�'' எ�ற ��தக�ைத எ��யவ� யா�?

        A:-Montesquieu

மா�ெட���

        B:-Voltaire

வா�ேட�



        C:-Rousseau

�ேசா

        D:-John Lock

ஜா� லா�

        Correct Answer:- Option-A

Question7:-Which of the following is/are a glacial landform?
(i) Cliffs
(ii) Waterfall
(iii) Drumlins
(iv) Barchans

��வ�வனவ��� ப��பாைற �ல�பர�� எ�/எைவ?

(i)  பாைறக�

(ii) ������

(iii) �ர���க�

(iv) பா�ச��

        A:-(i) and (ii)

(i) ம��� (ii)

        B:-(iv) only

(iv) ம���

        C:-(iii) only

(iii) ம���

        D:-(ii) and (iv)

(ii) ம��� (iv)

        Correct Answer:- Option-C

Question8:-The type of remote sensing in which the sensors depend on natural
source of light

இய�ைகயான ஒ� �ல�ைத� ெபா��த ெச�சா�க�� உ�ள �ேமா� ெச��� வைக

        A:-Active Remote Sensing

ஆ��� �ேமா� ெச���

        B:-Passive Remote Sensing

பா�� �ேமா� ெச���

        C:-RADAR

        D:-LIDAR

        Correct Answer:- Option-B

Question9:-The factors that determine the temperature of any region are
(i) the intensity and duration of insolation



(ii) the amount of watervapour in the air
(iii) the nature of land surface and altitude
(iv) the cloud cover

எ�த ஒ� �ரா��ய��� ெவ�ப�ைலைய�� ��மா���� கார�க�

(i)  இ�ேசாேலஷ�� ��ர� ம��� கால�

(ii) கா��� உ�ள �ரா��� அள�

(iii) �ல��� ேம�பர�� ம��� உயர��� த�ைம

(iv) ேமக ��ட�

        A:-(i) and (ii)

(i) ம��� (ii)

        B:-(i) and (iii)

(i) ம��� (iii)

        C:-(ii), (iii) and (iv)

(ii), (iii) ம��� (iv)

        D:-(i), (ii), (iii) and (iv)

(i), (ii), (iii) ம��� (iv)

        Correct Answer:- Option-D

Question10:-A peninsular river of India that drains into Bay of Bengal

வ�காள ���டா�� கல��� இ��யா�� �பக�ப ந�

        A:-Brahmaputra

�ர�ம���ரா

        B:-Sabarmati

சப�ம�

        C:-Godavari

ேகாதாவ�

        D:-Narmada

ந�மதா

        Correct Answer:- Option-C

Question11:-Which among the districts of Kerala has longest coast line?

ேகரளா�� எ�த மாவ�ட�க�� �க �ளமான கட�கைர உ�ள�?

        A:-Kollam

ெகா�ல�

        B:-Ernakulam

எ�ணா�ள�



        C:-Thrissur

�����

        D:-Kannur

க���

        Correct Answer:- Option-D

Question12:-The 2022 United Nations climate change conference (COP 27) was held
at

2022 ஐ��ய நா�க�� கால�ைல மா�ற மாநா� (COP 27) இ�� நைடெப�ற�

        A:-Egypt

எ���

        B:-Dubai

�பா�

        C:-Glasgow

�ளா�ேகா

        D:-Japan

ஜ�பா�

        Correct Answer:- Option-A

Question13:-Seed-water-fertilizer policy popularly known as

�ரபலமாக அ�ய�ப�� �ைத-��-உர� ெகா�ைக

        A:-Green Revolution

ப�ைம� �ர��

        B:-Golden Revolution

ெபா� �ர��

        C:-Operation Flood

ஆபேரஷ� ஃ�ள�

        D:-Blue Revolution

�ல� �ர��

        Correct Answer:- Option-A

Question14:-India's first 5 year plan was based on

இ��யா�� �த� 5 ஆ�� ��ட� இதைன அ��பைடயாக ெகா�ட�

        A:-Mahalanobis Model

மஹாலேனா�� மா��

        B:-Gadgil Model

கா��� மா��



        C:-Harrod-Domar Model

ஹேரா�-ேடாம� மா��

        D:-Both (1) and (2)

(1) ம��� (2)

        Correct Answer:- Option-C

Question15:-Arrange the following according to their increasing order of liquidity.
1.  Saving deposits with the blanks
2.  Currency and coins with the public
3.  Demand deposits with the banks
4.  Term deposits with the books

ெப�� வ�� பண��ழ�க��� ப� ��வ�வனவ�ைற வ�ைச�ப��த��

1.  வ��க�� ேச��� ைவ��

2.  ெபா�ம�க�ட� நாணய� ம��� �பா�க� 

3.  வ��க�� �மா�� ெடபா��

4.  ��தக�க�டனான கால ைவ�� 

        A:-3-4-1-2

        B:-2-3-4-1

        C:-4-1-3-2

        D:-1-2-3-4

        Correct Answer:- Option-C

Question16:-Indian Statistical Institute was established by

இ��ய ����ய�  ��வன� இவரா� ��வ�ப�ட�

        A:-Jawaharlal Nehru

ஜவஹ�லா� ேந�

        B:-P.C. Malalanobis

P.C. மஹாலேனா��

        C:-Amartyasen

அம���யாெச�

        D:-None of these

இைவ எ��� இ�ைல

        Correct Answer:- Option-B

Question17:-Who is called ''Father of GST'' in India?

இ��யா�� "�எ���� த�ைத" எ�� அைழ�க�ப�பவ� யா�?

        A:-Mahatma Gandhi

மகா�மா கா��



        B:-M.S. Swaminathan

M.S. �வா�நாத�

        C:-Atal Bihari Vajpayee

அட� �ஹா� வா�பா�

        D:-None of the above

ேமேல எ��� இ�ைல

        Correct Answer:- Option-C

Question18:-First Vice Chairman of NITI Aayog

NITI ஆேயா��� �த� �ைண� தைலவ�

        A:-Arvind Panagariya

அர��� பனகா�யா

        B:-Dr. Rajiv Kumar

டா�ட� ரா�� �மா�

        C:-Dr. K. Rajeswara Raho

டா�ட� K. ராேஜ�வர ரேஹா

        D:-Amitabh Kant

அ�தா� கா��

        Correct Answer:- Option-A

Question19:-Find the most correct statements regarding 104th Constitutional
Amendment Act in India.
(i)  Removed the idea of reservation of seats for the Anglo-Indian community in the
Lok
     Sabha and State Legislatures.
(ii) Extended the deadline for the cessation of seats for SCs and STs in the Lok
Sabha and
     State Legislatures from 70 to 80 years.
(iii) 10% reservation for Economically Weaker Sections of citizens of classes other
than
      socially and educationally backward classes or the Scheduled Castes and the
Scheduled
      Tribes.

இ��யா�� 104வ� அர�யலைம��� ���த� ச�ட� ெதாட�பான  �க� ச�யான

அ��ைககைள� க�ட�ய��

(i)  ம�களைவ ம��� மா�ல ச�டம�ற�க�� ஆ��ேலா-இ��ய�

     ச�க���கான இட ஒ���� ேயாசைன ��க�ப�ட�.

(ii) ம�களைவ ம���  மா�ல ச�டம�ற�க�� 70 �த� 80 ஆ��க�

     வைர�லான SC ம��� ST�க��கான இட�கைள ����வத�கான கால�ெக�

     ����க�ப�ட�.



(iii) ச�க ம��� க���� ��த��ய வ���ன� அ�ல� ப��ய�ட�ப�ட சா�க�

      ம��� பழ����ன� த�ர ம�ற வ���க�� ��ம�க�� ெபா�ளாதார

      ��யாக ந�வைட�த ���ன��� 10 சத�த இட ஒ����

        A:-Only (i and ii)

(i ம��� ii) ம���

        B:-Only (ii and iii)

(ii ம��� iii) ம���

        C:-Only (i and iii)

(i ம��� iii) ம���

        D:-All the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-A

Question20:-Among the following commissions for the protection and welfare of
designated communities/citizens, which one secured the latest status as a
constitutional body?

�ய��க�ப�ட ச�க�க�/��ம�க�� பா�கா�� ம��� நல��கான ��வ��

க�ஷ�க��, அர�யலைம�� அைம�பாக ச�ப��ய அ�த�ைத� ெப�ற� எ�?

        A:-National Women's Commissions

ேத�ய மக�� ஆைணய�

        B:-National Commission for Backward Classes

��ப��த�ப�ட வ���ன��கான ேத�ய ஆைணய� 

        C:-National Commission for Scheduled Caste

ப��ய� சா��கான ேத�ய ஆைணய�

        D:-National Human Rights Commission

ேத�ய ம�த உ�ைமக� ஆைணய�

        Correct Answer:- Option-B

Question21:-Who was the Secretary of Constituent Assembly of India?

இ��ய அர�ய� ��ணய சைப�� ெசயலாள� யா�?

        A:-Dr. Rajendra Prasad

டா�ட� ராேஜ��ர �ரசா�

        B:-Shri. H.V.R. Iyenkar

�� H.V.R. ஐய�கா� 

        C:-Dr. B.R. Ambedkar



டா�ட� B.R. அ�ேப�க�

        D:-Shri. Sachchidananda Sinha

�� ச��தான�த ��ஹா

        Correct Answer:- Option-B

Question22:-Identify the correct statement regarding recent Citizenship
Amendment Act 2019.
(i)  It provides Indian citizenship to the migrants who entered India on or before
31st
     December 2014
(ii) The Act was passed for migrants of six different religions such as Hindus, Sikhs,
Buddhists,
     Jains, Parsis and Christians from Afghanistan, Bangladesh and Pakistan
(iii) Parliament used its exclusive power to legislate with respect to citizenship
under the
      Seventh Schedule of Indian Constitution.
(iv) The provisions on citizenship will not apply to the tribal areas of Assam,
Meghalaya,
      Mizoram and Tripura that are included in the sixth schedule of the constitution.

ச�ப��ய  ����ைம ���த� ச�ட� 2019 ெதாட�பான ச�யான அ��ைகைய

அைடயாள� காண��

(i)   இ� �ச�ப� 31, 2014 அ�� அ�ல� அத�� �� இ��யா�� �ைழ�த �ல�

      ெபய��ேதா��� இ��ய ����ைமைய வழ���ற�.

(ii)  ஆ�கா��தா�, ப�களாேத� ம��� பா��தாைன� ேச��த இ���க�,

      ���ய�க�, ெபள�த�க�, ெஜ��, பா�� ம��� ���தவ�க�  என ஆ�

      ெவ�ேவ� மத�கைள� ேச��த  �ல� ெபய��ேதா��காக இ�ச�ட�

      �ைறேவ�ற�ப�ட�.

(iii) இ��ய அர�யலைம��� ஏழாவ� அ�டவைண�� �� ����ைம ெதாட�பாக 

      ச�ட�ய��வத�� பாரா�ம�ற� அத� �ர��ேயக அ�கார�ைத�

      பய�ப���ய�.

(iv) அர�யலைம��� ஆறாவ� அ�டவைண�� ேச��க�ப���ள அசா�,

      ேமகாலயா, �ேசார� ம��� ���ரா ஆ�ய பழ����ன� ப��க���

     ����ைம ���த ��க� ெபா��தா�.

        A:-(i and ii) only

(i ம��� ii) ம���

        B:-(ii and iv) only

(ii ம��� iv) ம���

        C:-(i, ii and iv) only



(i, ii ம��� iv) ம���

        D:-All the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question23:-Protection of Wildlife and Environment is detailed in which part of the
Constitution of India?

வன�ல��க� ம��� �����ழ�� பா�கா�� இ��ய அர�யலைம��� எ�த�

ப���� �வ��க�ப���ள�?

        A:-Fundamental Rights

அ��பைட உ�ைமக�

        B:-Directive Principles of States policy

மா�ல ெகா�ைக�� வ�கா��த� ெகா�ைகக�

        C:-Fundamental Duties

அ��பைட கடைமக�

        D:-Preamble

���ைர

        Correct Answer:- Option-B

Question24:-Identify the wrong statement regarding the new amendment to the
Flag Code of India.

இ��ய� ெகா�� ������ ��ய ���ப� ெதாட�பான தவறான அ��ைகைய

அைடயாள� காண��.

        A:-The National Flag shall be made of hand-spun and hand-woven or machine-
made, cotton, polyester, wool, silk khadi bunting

ேத�ய� ெகா�யான� ைக ���� ம��� ைகயா� ெந�த அ�ல� இய��ர�தா�

ெச�ய�ப�ட, ப���, பா�ய�ட� க�ப�, ப�� கா� ப�த� ஆ�யவ�றா� ெச�ய�பட

ேவ���

        B:-Permits the display of the national flag by members of the public, private
organizations,
educational institutions, etc.

ெபா�, த�யா� ��வன�க�, க�� ��வன�க� ேபா�றவ���  உ���ன�களா�

ேத�ய� ெகா�ைய� கா�ட அ�ம���ற�

        C:-The new rules did not permit polyester flags, only hand-spun and hand-
woven flags were allowed

��ய ��க� பா�ய�ட� ெகா�கைள அ�ம��க��ைல. ைகயா� �ழ�ற�ப�ட ம���

ைகயா� ெந�ய�ப�ட ெகா�க� ம��ேம அ�ம��க�ப���றன.



        D:-The new code lifts the restrictions on the import of machine-made flags
which was banned in 2019

��ய ���� 2019 இ� தைட ெச�ய�ப�ட இய��ர�தா� ெச�ய�ப�ட ெகா�கைள

இற��ம� ெச�வத�கான க���பா�கைள ����ற� 

        Correct Answer:- Option-C

Question25:-According to Administrative Reforms Commission, the institution of
Lokpal and Lokayukta should be characterised by which of the following features
(i)  Their appointment should as far as possible, be non-political
(ii)  Their proceedings should be subjected to judicial interference
(iii) Their investigation and proceedings should be conducted in public and should
be formal
      in character
(iv) They should not look forward to any benefit from executive

��வாக �����த ஆைணய��� ப�, ேலா�பா� ம��� ேலா� ஆ��தா அைம��

��வ�� எ�த அ�ச�களா� வைக�ப��த�ப��ற�.

(i)   அவ�க�� �யமன� ���தவைர அர�ய� சா�ப�றதாக இ��க ேவ��� 

(ii)  அவ�க�� நடவ��ைகக� ����ைற தைல����� உ�ப��த�படேவ���

(iii) அவ�க�� �சாரைண ம��� நடவ��ைகக� ெபா��� நட�த�படேவ���

      ம��� �ைறயான த�ைம�� இ��க ேவ���

(iv) அவ�க� ��வா��ட���� எ�த ந�ைமைய�� எ��பா��க��டா�

        A:-(i and ii) only

(i ம��� ii) ம���

        B:-(i, iii and iv) only

(i, iii ம��� iv) ம���

        C:-(i and iv) only

(i ம��� iv) ம���

        D:-All of the above (i, ii, iii and iv)

ேமேல உ�ள அைன��� (i, ii, iii ம��� iv)

        Correct Answer:- Option-C

Question26:-Who was the Chairman of 4th State finance Commission of Kerala?

ேகரளா�� 4வ� மா�ல �� ஆைணய��� தைலவ� யா�?

        A:-Dr. B.A. Prakash

டா�ட� B.A. �ரகா�

        B:-Sri. K.V. Rabindran Nair

�� K.V. ர���ர� நாய�



        C:-Sri. S.M. Vijayanand

�� S.M. �ஜயான��

        D:-Sri. Prof. M.A. Oommen

�� ேபரா��ய� M.A. உ�ம�

        Correct Answer:- Option-D

Question27:-Which of the following are the means of judicial control over
administration?
(i) Suits against government
(ii) Judicial review
(iii) Rule of Law
(iv) Statutory appeal

��வ�வனவ��� ��வாக��� �தான ����ைற க���பா��� வ��ைறக� 

(i)  அர��� எ�ரான வழ��க�

(ii) ����ைற ஆ��

(iii) ச�ட��� ஆ��

(iv) ச�ட��யான ேம��ைற��

        A:-(i, ii and iii) Only

(i, ii ம��� iii) ம���

        B:-(i, iii and iv) Only

(i, iii ம��� iv) ம���

        C:-(ii, iii and iv) Only

(ii, iii ம��� iv) ம���

        D:-(i, ii and iv) Only

(i, ii ம��� iv) ம���

        Correct Answer:- Option-D

Question28:-Which among the following is a pioneering e-governance project set up
by government of Kerala for computerisation of Local self government institutions
of Kerala

ேகரளா�� உ�ளா�� ��வன�கைள க��மயமா��வத�காக ேகரள அரசா�

அைம�க�ப�ட ��ேனா� ��-ஆ�ைம� ��ட� ��வ�வனவ��� எ�?

        A:-Information Kerala Mission

இ�ப�ேமஷ� ேகரளா �ஷ�

        B:-Akshaya

அ�யா

        C:-Kerala State IT Mission

ேகரளா �ேட� IT �ஷ�



        D:-Kerala State Wide Area Network

ேகரளா �ேட� ைவ� ஏ�யா ெந�ெவா��

        Correct Answer:- Option-A

Question29:-In which year the State planning Board was made a permanent major
Department of the government

எ�த ஆ��� மா�ல ��ட�ட� வா�ய� அரசா�க��� �ர�தர ���ய �ைறயாக

மா�ற�ப�ட�?

        A:-1967

        B:-1969

        C:-1974

        D:-1972

        Correct Answer:- Option-C

Question30:-Which among the following statement is/are correct about State
Human Rights Commission?
(i) The chairperson should be a retired Chief Justice or a Judge of a High Court
(ii) The Chairperson and members are removed by the Governor on the
recommendations of
      a committee consisting of the chief ministers as its head, the speaker of the
Legislative
     Assembly
(iii) The chairperson and members hold office for a term of three years or until they
attain
      the age of 70 years, whichever comes first
(iv) The salaries, allowances and other conditions of service of the chairperson or a
member
      are determined by the parliament

மா�ல ம�த உ�ைமக� ஆைணய�ைத� ப��ய ��வ�� அ��ைகக�� எ�/எைவ

ச�யான�?

(i)   தைலவ� ஓ�� ெப�ற தைலைம ��ப�யாகேவா அ�ல� உய� ��ம�ற

      ��ப�யாகேவா இ��க ேவ���

(ii)  �த� அைம�ச�க�, ச�டம�ற சபாநாயக� ஆ�ேயா� ெகா�ட ச�டசைப ��

      ப���ைரயா� தைலவ� ம��� உ���ன�க� ஆ�நரா� ��க�ப�வா�க�

(iii) தைலவ� ம��� உ���ன�க�� ஆ���கால� ��� வ�ட� அ�ல�

     அவ�க�� 70 வய�, இ�� எ� �த�� வ�வ�ப� 

(iv)  தைலவ� அ�ல� உ���ன�� ச�பள�, ெகா��பன�க� ம��� �ற ேசைவ

       �ப�தைனக�

        A:-(i, ii and iii) only

(i, ii ம��� iii) ம���



        B:-(i, ii and iv) only

(i, ii ம��� iv) ம���

        C:-(ii and iv) only

(ii ம��� iv) ம���

        D:-(i and iii) only

(i ம��� iii) ம���

        Correct Answer:- Option-D

Question31:-Who is the Chief Executive officer of Kerala State Disaster
Management Authority?

ேகரள மா�ல ேப�ட� ேமலா�ைம ஆைணய��� தைலைம ��வாக அ�கா� யா�?

        A:-Chief Minister

�தலைம�ச�

        B:-The Chief Secretary

தைலைம� ெசயலாள�

        C:-Revenue Minister

வ�வா���ைற அைம�ச�

        D:-Additional Chief Secretary, Revenue and Disaster Management

��த� தைலைம� ெசயலாள�, வ�வா� ம��� ேப�ட� ேமலா�ைம

        Correct Answer:- Option-B

Question32:-According to the Kerala Head Load workers Act, which one of the
following acts as appellate authorities

ேகரள தைலைம� �ைம ெதா�லாள�க� ச�ட���ப� ��வ�வனவ��� ஒ��

ேம��ைற��� அ�கா�களாக ெசய�ப��ற�

        A:-The Regional Joint Labour Commissioners

�ரா��ய ��� ெதா�லாள� ஆைணய�க�

        B:-Deputy Labour Commissioners

�ைண ெதா�லாள� ஆைணய�க�

        C:-District Labour Officers

மாவ�ட ெதா�லாள� அ�வல�க�

        D:-Labour Comissionerate

ெதா�லாள� ஆைணய�

        Correct Answer:- Option-A

Question33:-Which of the following is not a Ramsar Site in Kerala

��வ�வனவ��� எ� ேகரளா�� உ�ள ரா�ச� தள� அ�ல?



        A:-Vembanad

ேவ�பநா�

        B:-Ashtamudi

அ�ட��

        C:-Sasthamkotta

சா�த�ேகா�டா

        D:-Vellayani

ெவ�ைளயா�

        Correct Answer:- Option-D

Question34:-Kerala State Disaster Management Authority is

ேகரள மா�ல ேப�ட� ேமலா�ைம ஆைணய�

        A:-A Statutory body

ஒ� ச�ட���வ அைம��

        B:-A Non-Statutory body

ச�ட���வம�ற அைம��

        C:-An Autonomous body

ஒ� த�னா�� அைம��

        D:-A Statutory Non-Autonomous body

ஒ� ச�ட���வ த�னா�� அ�லாத அைம�� 

        Correct Answer:- Option-D

Question35:-Who is the Chairman of Kerala Rural Employment and Welfare Society
(KREWS)?

ேகரள  �ராம��ற ேவைலவா��� ம��� நல� ச�க��� (KREWS) தைலவ� யா�?

        A:-Balamurali D IAS

பால�ர� D IAS

        B:-Adv. P Viswambarapanicker

அ�வ  P  ��வ�பரப��க�

        C:-P.I. Sreevidya IAS

P.I. ����யா IAS

        D:-Dr. Joy Elamon

டா�ட� ஜா� எலாம�

        Correct Answer:- Option-B

Question36:-Who is the Chief Labour Commissioner (Central) of India?

இ��யா�� தைலைம ெதா�லாள� ஆைணய� (ம��ய) யா�?



        A:-Shri Ajay Kumar Samantaray

�� அஜ� �மா� சாம�தரா�

        B:-Shri S.C. Joshi

�� S.C. ேஜா�

        C:-Shri R.G. Meena

�� R.G. �னா

        D:-Dr. S. Chithra

டா�ட� S. ��ரா

        Correct Answer:- Option-A

Question37:-Skin, eyes and heart are

ேதா�, க�க� ம��� இதய�

        A:-Organs

உ���க�

        B:-Cells

ெச�க�

        C:-Tissues

���க�

        D:-Systems

அைம��க�

        Correct Answer:- Option-A

Question38:-Cells (in trillion) in human body

ம�த உட�� உ�ள ெச�க� (����ய��)

        A:-10

        B:-600

        C:-37.2

        D:-25

        Correct Answer:- Option-C

Question39:-The most essential nutrient for a woman during her initial stages of
pregnancy

க��ப��� ஆர�ப க�ட�க�� ெப�க��� �க�� அவ�யமான ஊ�ட�ச��

        A:-Vit. A

ைவ�ட�� A

        B:-Thiamin

ைதயா��



        C:-Folic Acid

ஃேபா�� அ�ல�

        D:-None

இ�ைல

        Correct Answer:- Option-C

Question40:-Protein deficiency disease is

�ேரா��� �ைறபா� ேநா�

        A:-Hyperthyrodism

ைஹ�ப� ைதரா��ச�

        B:-Meningitis

�ைள�கா��ச�

        C:-Kwashiorkor

�வா�ேயா�க�

        D:-Anaemia

இர�த ேசாைக

        Correct Answer:- Option-C

Question41:-Disease transmitted by insect vector

��� �ைசய� �ல� பர�� ேநா�

        A:-Cancer

���ேநா�

        B:-AIDS

எ���

        C:-Malaria

மேல�யா

        D:-None

இ�ைல

        Correct Answer:- Option-C

Question42:-Sound harmful above

இத�� ேம� ஒ� ��� �ைள����

        A:-100 db

        B:-10 db

        C:-40 db

        D:-80 db



        Correct Answer:- Option-D

Question43:-The scientific name given, recently, to Kaari fish (kadu) - (Black
stinging cat fish) is

கா� ���� (கா�) ச�ப��� ெகா��க�ப�ட அ��ய� ெபய� -  (க���  ெகா���

�ைன ��)

        A:-Heteropneustes fossilis

ெஹ�ேரா����ட� ஃபா���

        B:-Heteropneustes fuscus

ெஹ�ேரா����ட� ஃப�க�

        C:-Heteropneustes nani

ெஹ�ேரா����ட� நா�

        D:-Heteropneustes singhi

ெஹ�ேரா����ட� ���

        Correct Answer:- Option-B

Question44:-India declared polio free in

ேபா�ேயா இ�லாததாக இ��யா அ���த�

        A:-1990

        B:-1992

        C:-2010

        D:-2014

        Correct Answer:- Option-D

Question45:-For which colour of light, the refractive index of a transparent medium
is minimum?

ஒ��� எ�த �ற����, ஒ� ஊடக��� ஒ��லக� ���� �ைற�த�?

        A:-Red

�வ��

        B:-Green

ப�ைச

        C:-Violet

வயல�

        D:-Same for all colours

எ�லா வ�ண�க���� ஒேர மா��யானைவ

        Correct Answer:- Option-A

Question46:-The force which opposes the relative motion between the different
layers of a liquid is



ஒ� �ரவ��� ெவ�ேவ� அ���க��� இைடேய உ�ள சா�� இய�க�ைத எ�����

�ைச

        A:-Buoyant force

�தைவ �ைச

        B:-Surface tension

ேம�பர�� �ைர��

        C:-Centripetal force

ைமய�ல�� �ைச

        D:-Viscous force

������ �ைச

        Correct Answer:- Option-D

Question47:-A body of mass 'm' is sliding over a horizontal surface. If 'g' is the
acceleration due to gravity, then the force of gravity 'F' acting on the body and the
work 'W' done by the force of gravity are,

�ைற 'm' ெகா�ட ஒ� ெபா�� �ைடம�ட ேம�பர��� ச����ற�. 'g' எ�ப�

������ �ைசயா� ஏ�ப�� ���க� எ�றா�, ெபா��� ெசய�ப�� ஈ��� �ைச 'F'

ம��� ������ �ைசயா� ெச�ய�ப�� ேவைல 'W'

        A:-F = 0, W = 0

        B:-F = mg, W = mg

        C:-F = mg, W = 0

        D:-F = 0, W = mg

        Correct Answer:- Option-C

Question48:-When a body is moved from the surface of earth to the top of a
mountain, its weight,

ஒ� ெபா�ைள ���� ேம�பர���  இ��� மைல�� உ���� நக����ேபா�, அத�

எைட

        A:-Increases

அ�க���ற�

        B:-Decreases

�ைற�ற�

        C:-Remains the same

அ�ப�ேய உ�ள�

        D:-Becomes infinity

����யாக மா��

        Correct Answer:- Option-B



Question49:-The geometry of fullerence   consist of ______

��ெல��   வ�வ�ய� ெகா�ட� ______

        A:-12 pentagons only

12 ெப�டக�க� ம���

        B:-20 hexagons only

20 ெஹ�ஸக�க� ம���

        C:-20 hexagons and 12 pentagons

20 ெஹ�ஸக�க� ம��� 12 ெப�டக�க�

        D:-12 hexagons and 20 pentagons

12 ெஹ�ஸக�க� ம��� 20 ெப�டக�க�

        Correct Answer:- Option-C

Question50:-Which of the following statement is/are correct about main group
elements of the periodic table?
(i)  Li shows diagonal relationship with Be
(ii) Po is a main group element
(iii) F is the most electronegative element

ஆவ��தன அ�டவைண�� ���ய �� உ���கைள� ப�� ��வ��  ���க��

எ�/எைவ ச�யான�?

(i)  Li ஆன� Be உட� �ைல��ட  உறைவ� கா���ற�

(ii) Po ஒ� ���ய �� உ��� 

(iii) F ஆன� ெப��பா�� எல��ேரா ெநக��� த�ம�

        A:-(i and ii) only

(i ம��� ii) ம���

        B:-(i and iii) only

(i ம��� iii) ம���

        C:-(ii and iii) only

(ii ம��� iii) ம���

        D:-(i, ii and iii) All the above

(i, ii ம��� iii) ேமேல உ�ள அைன���

        Correct Answer:- Option-C

Question51:-What is the pH is 1M NaOH solution at 25ºC?

25ºC இ� 1M NaOH கைரச�� pH எ�ன?

        A:-0

        B:-1

        C:-10



        D:-14

        Correct Answer:- Option-D

Question52:-''Vigyan Sarvatra Pujyate'' of 2022 is associated with

2022 இ� ''��யா� ச�வ�ர ��யேத'' இத�ட� ெதாட��ைடய�

        A:-National Science Day

ேத�ய அ��ய� �ன�

        B:-Indian Science Congress

இ��ய அ��ய� கா��ர�

        C:-National Technology Day

ேத�ய ெதா�� ��ப �ன�

        D:-National Education Day

ேத�ய க�� �ன�

        Correct Answer:- Option-A

Question53:-Vasthuhara, a film directed by G. Aravindan is based on a short story
written by

வா��ஹாரா  G. அர��த� இய��ய �ைர�பட� இவ� எ��ய ��கைதைய

அ��பைடயாக� ெகா�ட�.

        A:-M.T. Vasudevan Nair

M.T. வா�ேதவ� நாய�

        B:-S.K. Pottakkad

S.K. ெபா�ட�கா�

        C:-O.V. Vijayan

O.V. �ஜய�

        D:-C.V. Sreeraman

C.V. ��ராம�

        Correct Answer:- Option-D

Question54:-Which of the following is/are true about Kerala Kalamandalam?
(i)   It is situated in Cheruthuruthy
(ii)  Kerala Kalamandalam was established in 1930
(iii) Mankulam Mukundaraja was closely associated with the foundation of Kerala
      Kalamandalam

ேகரள� கலாம�டல�ைத� ப��ய ��வ�வனவ��� எ�/எைவ உ�ைம?

(i)  இ� ெச�������� அைம���ள�

(ii) ேகரள கலாம�டல� 1930 இ� ��வ�ப�ட�

(iii)ம��ள� ���தராஜா ேகரள கலாம�டல��� அ��பைட�ட� ெந��கமாக



     ெதாட��ைடயவ�

        A:-(i) and (ii) only

(i) ம��� (ii) ம���

        B:-(ii) and (iii) only

(ii) ம��� (iii) ம���

        C:-(i) and (iii) only

(i) ம��� (iii) ம���

        D:-All the above

ேமேல உ�ளஅைன���

        Correct Answer:- Option-D

Question55:-Which of the following is not authored by Vallathol Naralyana Menon?

���க�டவ��� எ� வ�ள�ேதா� நாராயண ேமனனா� எ�த�பட��ைல?

        A:-Ente Gurunathan

எ�ேட ��நாத�

        B:-Kochu Seetha

ெகா�� �தா

        C:-Onappattukar

ஓண�பா��கா�

        D:-Achanum Makalum

அ�ச�� மக��

        Correct Answer:- Option-C

Question56:-Which of the following film is not matched correctly?

��வ�� பட�க�� எ� ச�யாக� ெபா��த��ைல?

        A:-Madonna-Raphael

மேடானா-ரேப�

        B:-Irises-Van Gogh

ஐ�ஸ�-வா� ேகா

        C:-Vitruvian Man-Da Vinci

����ய� ம�-டா ���

        D:-The Return of the Prodigal Son-Michealangelo

� ��ட� ஆஃ� த �ரா��க� ச�-ைம�ேகேல�சேலா

        Correct Answer:- Option-D



Question57:-Which of the following is matched correctly?

��வ�வனவ��� எ� ச�யாக� ெபா����ற�?

        A:-Kaimudrakul - Sethu

ைக���ைரக� - ேச�

        B:-Nirthan - Rajalekshmi

���த� - ராஜெல��

        C:-Delhi Gadhakal - V.K.N

ெட�� கடக� - V.K.N

        D:-Kudiyozhikkal - Kovilan

��ேயா��க� - ேகா�ல�

        Correct Answer:- Option-A

Question58:-Which of the following is not true about 'Virgin Galactic'?
(i) It is world's first commercial space tourism company
(ii) Elon musk is the founder of Virgin Galactic
(iii) It is an American spaceflight company founded in 2004

��வ�வனவ��� எ� '���� ேகல���' ப�� உ�ைமய�ல?

(i)  இ� உல�� �த� வ�க ��ெவ� ���லா ��வன�

(ii) எேலா� ம�� ���� ேகல��� ��வன� ஆவா�

(iii) இ� 2004 இ� ��வ�ப�ட ஒ� அெம��க ��ெவ� ��வன� ஆ��

        A:-(i) Only

(i) ம���

        B:-(ii) Only

(ii) ம���

        C:-(iii) Only

(iii) ம���

        D:-All the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-B

Question59:-Chrysilla Volupe, a rare organism recently spotted in Puttenahalli
belongs to which category of species?

��ேதனஹ���� ச�ப��� காண�ப�ட ஒ� அ�ய உ��னமான �ைர��லா வா���

எ�த வைகைய� ேச��த�?

        A:-Frog

தவைள

        B:-Dung Beetle



சாண வ��

        C:-Spider

�ல��

        D:-Turtle

ஆைம

        Correct Answer:- Option-C

Question60:-______ is an example for secondary storage device.

இர�டா� �ைல ேச��பக சாதன���� ஒ� எ����கா�� 

        A:-Magnetic disk

ேம�ன�� ���

        B:-RAM
RAM

        C:-ROM
ROM

        D:-Cache
Cache

        Correct Answer:- Option-A

Question61:-______ is used for creating web pages.

வைல�ப�க�கைள உ�வா�க பய�ப�வ�.

        A:-SQL
SQL

        B:-Paint

ெப���

        C:-HTML
HTML

        D:-Adobe Reader

அேடா� �ட�

        Correct Answer:- Option-C

Question62:-The application software that is used for processing data is _____

தர� ெசயலா�க����� பய�ப��த�ப�� பய�பா�� ெம�ெபா��

        A:-GIMP
GIMP

        B:-MS PowerPoint

MS பவ�பா���

        C:-MS Word

MS ேவா��



        D:-Spreadsheet

��ெர� ��

        Correct Answer:- Option-D

Question63:-Information Technology Act was introduced in the year ____

தகவ� ெதா����ப ச�ட� அ��க�ப��த�ப�ட ஆ��

        A:-1998

        B:-2000

        C:-2001

        D:-2002

        Correct Answer:- Option-B

Question64:-The device that a used to connect two different networks is called ____

இர�� ெவ�ேவ� ெந�ெவா���கைள இைண�க� பய�ப�� சாதன�  _______ எ��

அைழ�க�ப��ற�.

        A:-LAN
LAN

        B:-Gateway

ேக�ேவ

        C:-Decoder

�ேகாட�

        D:-RJ45
RJ45

        Correct Answer:- Option-B

Question65:-Right to Information Act, 2005 does not cover ____

தகவ� அ��� உ�ைம� ச�ட�, 2005 இைத உ�ளட�க��ைல 

        A:-Offices of Public Authorities established, owned or substantially financed by
the Central Government

ம��ய அரசா�க�தா� ��வ�ப�ட ெசா�தமான அ�ல� க�சமாக ��ய��க�ப�ட

ெபா� அ�கார�க�� அ�வலக�க�

        B:-Offices of Public Authorities established, owned the State Governments

மா�ல அர�க��� ெசா�தமான ெபா� அ�கார�க�� அ�வலக�க� ��வ�ப���ளன

        C:-Any body owned, controlled or substantially financed by Central
Government

ம��ய அர��� ெசா�தமான, க���ப��த�ப�ட  அ�ல� க�சமாக ��ய��க�ப�ட

எ�தெவா� அைம���

        D:-A non Government Organisation not substantially financed directly or
indirectly by Central Government



ம��ய அரசா� ேநர�யாகேவா மைற�கமாகேவா  ���த� ெபறாத அர� சாரா ��வன�

        Correct Answer:- Option-D

Question66:-What is the maximum amount of penalty imposed under the Right to
Service Act 2012 on a designated officer failing to provide service without
reasonable and sufficient cause?

�யாயமான ம��� ேபா�மான காரண��� ேசைவைய வழ�க� தவ�ய �ய��க�ப�ட

அ�கா���, ேகரள ேசைவ உ�ைம� ச�ட� 2012� �� ���க�ப�� அ�கப�ச அபராத�

ெதாைக எ�ன?

        A:-10,000

        B:-5,000

        C:-1,00,000

        D:-500

        Correct Answer:- Option-B

Question67:-Which of the following statues provide for constitution of internal
complaints committee?

��வ�� அைம��க�� எ� உ�  �கா�� ��ைவ உ�வா���ற�?

        A:-Right to Information Act, 2005

தகவ� அ��� உ�ைம� ச�ட�, 2005

        B:-The Kerala Right to Service Act, 2012

ேசைவ�கான ேகரள உ�ைம� ச�ட�, 2012

        C:-The Sexual Harassment of Women at Workplace (Prevention, Prohibition and
Redressal) Act, 2013

ப��ட��� ெப�க��� ஏ�ப�� பா�ய� �����த� (த���, தைட ம��� ���)

ச�ட�, 2013

        D:-Juvenile Justice (Care and Protection of Children) Act, 2015

�றா� �� (�ழ�ைதக�� பராம��� ம��� பா�கா��) ச�ட�, 2015

        Correct Answer:- Option-C

Question68:-Mr. X gives false information to a magistrate that a police officer
illegally omits to do his work. The magistrate believing this, takes action upon the
police officer? What offence Mr. X has committed?

ஒ� ேபா�� அ�கா� ச�ட �ேராதமாக தன� ேவைலைய� ெச�ய� தவ���டா� எ�ற

தவறான தகவைல ஒ� மா���ேர��ட� ��. X ���றா�. இைத ந��ய மா���ேர�,

ேபா�� அ�கா� �� நடவ��ைக எ��பாரா? ��.  X  எ�ன ��ற� ெச�தா�?

        A:-Providing false information to public servant under Section 182 of Indian
Penal Code

இ��ய த�டைன� ச�ட� ��� 182� �� ெபா� ஊ�ய��� தவறான தகவைல



வழ��த�

        B:-Fabricating false evidence under Sec 192 of The Indian Penal Code

இ��ய த�டைன� ச�ட� ��� 192� �� தவறான ஆதார�கைள உ�வா��த�

        C:-Obstructing public servant in discharge of his official duties under Section
186 of The Indian Penal Code

இ��ய த�டைன� ச�ட��� 186வ� ���� �� அர�� ப�யாள� தன�

உ��ேயாக��வ ப�கைள� ெச�வ�� தைட ெச�த�

        D:-Threat of injury to Public servant under 189 of The Indian Penal Code

இ��ய த�டைன� ச�ட��� 189� �� அர� ஊ�ய��� காய� ஏ�ப�� அ����த�

        Correct Answer:- Option-A

Question69:-''Parent'' under Maintenance and welfare of parents and Senior Citizen
Act, 2007 include
(i) Biological parents below 60 years
(ii) Step mother

ெப�ேறா� ம��� ��த ��ம�க�� பராம��� ம��� நல� ச�ட�, 2007 இ� ��

''ெப�ேறா�'' எ�ப�

(i)   60 வய����ப�ட உ��ய� ெப�ேறா�கைள உ�ளட��ய�

(ii)  மா�றா�தா�

        A:-Both (i) and (ii) are correct

(i) ம��� (ii) இர��� ச�யானைவ

        B:-Both (i) and (ii) are incorrect

(i) ம��� (ii) இர��� தவறானைவ

        C:-Only (i) is correct

(i) ம��ேம ச�யான�

        D:-Only (ii) is correct

(ii) ம��ேம ச�யான�

        Correct Answer:- Option-A

Question70:-Lokpal has jurisdiction over _____

ேலா�பா� _____ அ�கார வர�ைப� ெகா���ள�.

        A:-State Government to inquire into allegations of corruption against its public
functionaries

மா�ல  அர� அத� ெபா�� ப�யாள�க� �தான ஊழ� �கா�கைள �சா��க ேவ���

        B:-Central Government to inquire into allegations of corruption against its
public functionnaires

ம��ய அர� அத� ெபா�� ெசயல�க� �தான ஊழ� �கா�கைள �சா��க ேவ���



        C:-Central Government to inquire into allegations of sexual harassment
against its public
functionaries

ம��ய அர� அத� ெபா�� ப�யாள�க��� எ�ரான பா�ய�  �����த�

��ற�சா��கைள �சா����

        D:-None of the above

ேமேல எ��� இ�ைல

        Correct Answer:- Option-B

Question71:-The least among the following is

��வ�வனவ��� �க� �ைறவான�

        A:-(0.08)°

        B:-0.1÷0.08

        C:-

        D:-0.1

        Correct Answer:- Option-C

Question72:-The number of terms of the sequence 76, 72, 68,...... that must be
added to get sum zero is

76, 72, 68,...... எ�ற வ�ைச�� 0 வைர எ�தைன ெதாட� எ���ைக

ேச��க�படேவ���.

        A:-39

        B:-43

        C:-63

        D:-65

        Correct Answer:- Option-A

Question73:-The average of first 35 natural numbers is

�த� 35 இய� எ�க�� சராச�

        A:-17.5

        B:-18

        C:-630

        D:-1225

        Correct Answer:- Option-B

Question74:-A did 1/3 of a work, B did 2/5 of it and C did the rest of it. They gained
Rs. 3300 for the total work, then, C's wages is

A 1/3 ேவைலைய� ெச�த�. B 2/5 ேவைல ெச�த� ம��� C �� ேவைலைய� ெச�த�.

அவ�க� ெமா�த ேவைல�� �. 3300 ஊ�ய� ெப�றன� எ��, C�� ஊ�ய�

        A:-Rs. 330



�. 330

        B:-Rs. 880

�. 880

        C:-Rs. 1100

�. 1100

        D:-Rs. 1320

�. 1320

        Correct Answer:- Option-B

Question75:-The perimeter (in cm) of a semicircle of radius 91 cm is

91 ெச� ஆர� ெகா�ட அைரவ�ட��� ��றள�  (ெச.�.��)

        A:-286

        B:-377

        C:-468

        D:-572

        Correct Answer:- Option-C

Question76:-The next term in the series 11, 18, 73, ..... is

11, 18, 73, .....எ�ற ெதாட�� அ��த எ�

        A:-99

        B:-108

        C:-517

        D:-634

        Correct Answer:- Option-D

Question77:-If KDKO stands for GAIN, then _____ stands for LOSS.

KDKO எ�ப� GAIN ஐ� ����ற� எ�றா� _____ எ�ப�  LOSS ஐ� �����.

        A:-PRUT

        B:-PRTT

        C:-FUTR

        D:-QSTT

        Correct Answer:- Option-A

Question78:-A man said to a woman, ''the only son of your brother is the brother of
my wife''. How is that woman related to the wife of than man?

ஒ� ஆ� ஒ� ெப��ட�, "உ� சேகாதர�� ஒேர மக� எ� மைன��� சேகாதர�"

எ�றா� அ�த ெப� அ�த ஆ�� மைன��ட� எ�வா� ெதாட��ைடயவ�?

        A:-Sister

சேகாத�



        B:-Mother

அ�மா

        C:-Aunt

அ�ைத

        D:-Grandmother

பா��

        Correct Answer:- Option-C

Question79:-If N denotes '+' Q denotes '-' M denotes '×'  and P denotes '÷' , then
1000P5N5Q80M2P2M4 is

N எ�ப� '+' ஐ� ����ற� Q எ�றா� '-' M எ�ப� '×' ம��� P எ�ப� '÷' , ��ன�

1000P5N5Q80M2P2M4 எ�ப�

        A:-80

        B:-–115

        C:-185

        D:-–220

        Correct Answer:- Option-B

Question80:-What is the angle between the minute hand and the hour hand of a
clock when the time is 3.10?

ேநர� 3.10 ஆக இ����ேபா� ஒ� க�கார��� ��ட �� ம��� ம�ேநர ��

இைடேய உ�ள ேகாண� எ�ன?

        A:-15º

        B:-25º

        C:-35º

        D:-45º

        Correct Answer:- Option-C

Question81:-Which one is correct?

        A:-Dani requested to not go there

        B:-Dani requested not to went there

        C:-Dani requested them not going there

        D:-Dani requested them not to go there

        Correct Answer:- Option-D

Question82:-He is going to _________ the programme

        A:-call off

        B:-call up

        C:-call on



        D:-call upon

        Correct Answer:- Option-A

Question83:-One of us ______________ brought an application

        A:-have

        B:-has

        C:-are

        D:-all of these

        Correct Answer:- Option-B

Question84:-Whcih of the following is correctly spelt?

        A:-diprivation

        B:-deprivetion

        C:-deprivation

        D:-diprevation

        Correct Answer:- Option-C

Question85:-select the most appropriate meaning of the given idiom.
"Fair and square"

        A:-Honestly

        B:-nasty

        C:-cunning

        D:-culpable

        Correct Answer:- Option-A

Question86:-Choose the best substitute from the given options
An isolated shelter for infected patients

        A:-leitmotif

        B:-lazaretto

        C:-laundry

        D:-lance

        Correct Answer:- Option-B

Question87:-Complete the sentence
I had got the first prize, ___________

        A:-I would be happy

        B:-I will be happy

        C:-I would have been happy

        D:-I would happy

        Correct Answer:- Option-C

Question88:-Which of the following options are most similar in meaning to the word,
creased



(i)     crumpled
(ii)    wrinkled
(iii)   crinkled 
(iv)   folded

        A:-(i) and (iv)

        B:-(i), (ii), (iii)

        C:-(iv)

        D:-all of these

        Correct Answer:- Option-D

Question89:-shie is my ________

        A:-Collegue

        B:-Colleague

        C:-Collegu

        D:-Collage

        Correct Answer:- Option-B

Question90:-Select the correct question tag
They need some money, _______________?

        A:-need they?

        B:-don't they?

        C:-needn't they?

        D:-didn't they?

        Correct Answer:- Option-B

Question91:-�� எ�� ெசா���� இைணயான ேவ� ெபய�க� யா�?

1.  �க�

2.  வாரண�

3.  ��ைள

4.  ேகா�கல�

        A:-1 உ� 2 உ� ச�

        B:-2 உ� 3 உ� ச�

        C:-1 உ� 3 உ� ச�

        D:-3 உ� 4 உ� ச�

        Correct Answer:- Option-C

Question92:-�ைன�ெதாைக� �ற��� �ற�த அ�ெமா��ெதாைக� ெசா�க� யா�?

1.  க���ழ�



2.  தா��ழ�

3.  ஊ�கா�

4.  ���ைட

        A:-1  உ� 2 உ� ச�

        B:-2 உ� 3 உ� ச�

        C:-1 உ� 4 உ� ச�

        D:-2 உ� 4 உ� ச�

        Correct Answer:- Option-B

Question93:-மன� + �ர�� ேச��ெத��க

1.   மன��ர��

2.   மன��ர��

3.   மன��ர��

4.   மன��ர��

        A:-1 உ� 2 உ� ச�

        B:-2 உ� 4 உ� ச�

        C:-1 ம��� ச�

        D:-3 ம��� ச�

        Correct Answer:- Option-C

Question94:-�ேழ தர�ப���ளவ��� த�ைம �ைன���� ெசா�க� யாைவ?

1.   நட�ேத�

2.   நட�தா�

3.   நட�தா�

4.   நட�ேதா�

        A:-1 உ� 2 உ� ச�

        B:-1 உ� 3 உ� ச�

        C:-2 உ� 4 உ� ச�

        D:-1 உ� 4 உ� ச�



        Correct Answer:- Option-D

Question95:-�ேழ தர�ப���ளவ��� ச�யான ெதாட� எ�?

1.   காைல� ��க மா��ைர சா���டா�.

2.   காைல ��க மா��ைர சா���டா�.

3.   காைல ��க மா��ைர� சா���டா�.

4.   காைல� ��க மா��ைர� சா���டா�

        A:-2 ம��� ச�

        B:-1 உ� 3 உ� ச�

        C:-1 உ� 4 உ� ச�

        D:-1 ம��� ச�

        Correct Answer:- Option-A

Question96:-'க���' ���ெத��க?

1.  க� + ��

2.  க� + ��

3.  க� + ��

4.  க� + ��

        A:-1 உ� 2 உ� ச�

        B:-3 ம��� ச�

        C:-1 உ� 4 உ� ச�

        D:-2 ம��� ச�

        Correct Answer:- Option-B

Question97:-�ேழ தர�ப���ளவ��� "�ண�" எவ��� ெப�பா� ெபய�?

1.  நா�

2.  கவ�

3.  காைள

4.  ப��

        A:-1 உ� 4 உ� ச�

        B:-2 உ� 4 உ� ச�



        C:-1 உ� 2 உ� ச�

        D:-2 உ� 3 உ� ச�

        Correct Answer:- Option-A

Question98:-TRANSLITERATION எ�ற ெசா��� த�ழா�க� எ�?

1.   ெமா�ெபய���

2.   ஒ�வ�வ ெமா�ெபய���

3.   ஒ� ெபய���

4.   ேந� ெமா�ெபய��� 

        A:-1 உ� 3 உ� ச�

        B:-2 உ� 3 உ� ச�

        C:-3 உ� 4 உ� ச�

        D:-1 உ� 4 உ� ச�

        Correct Answer:- Option-B

Question99:-'He gave a warm welcome to his friend'

1.  அவ� த��ைடய ந�ப���� �டான வரேவ�� த�தா�.

2.  அவ� த��ைடய ந�பைன ம���ட� வரேவ�றா�.

3.  அவ� த��ைடய ந�பைன அக���ர வரேவ�றா�.

4.  அவ� த��ைடய ந�ப��� மன���ர வரேவ�� த�தா�

        A:-1 உ� 3 உ� ச�

        B:-2 ம��� ச�

        C:-3 உ� 4 உ� ச�

        D:-4 ம��� ச�

        Correct Answer:- Option-C

Question100:-'அ�' எ�ற ெசா���� ப�ைம த�க.

1.  அவ�

2.  அ�க�

3.  அைவ

4.  அவ



        A:-1 உ� 2 உ� ச�

        B:-3 ம��� ச�

        C:-3 உ� 4 உ� ச�

        D:-4 ம��� ச�

        Correct Answer:- Option-B


